Full form of AWT is

Abstract Wide Type
Abstract Window Tool-Kit
Additional Window Tools
All Window Tools

ANS : B

COow»

What is the name of the Swing class that is used for frames?
A. Window

B. Frame

C. JFrame

D. SwingFrame

ANS: C

Which object can be constructed to show any number of choices in the visible
window?

A. Labels

B. Choice

C. List

D. Checkbox

ANS : C

Swing is the components.

A. Heavy Weight
B. Light Weight

C. Moderate Weight
D. No Weight

ANS : B

Which of the these events is generated when a button is pressed?
A. WindowEvent
B. KeyEvent
C. ToolEvent
D. ActionEvent
ANS:D

Which package is used for having Swing to import?
A. javax.swing.*
B. java.swing.*
C. javax.swingtool.*
D. java.swingdata.*

Ans :A

JTree class belongs to which package?
A. java.awt
B.java.applet




C. java.swing
D. javax.swing

ANS : D

MVC architecture is

A. Modelling — Visual — Controller
B. Model - View — Controller

C. Model — Viewable — Controller
D. Many — View — Controller

ANS : B

The default layout manager of Frame is
A. FlowLayout

B.BorderLayout

C. GridLayout

D.CardLayoutANS

ANS : B.

10

method returns currently selected item in choice.

A. getSelectedltem( )

B. getSelectedElement()
C. getSelectedIndex( )
D. getltem()

ANS : A

11

A server socket can connect to clients.
B 1

B. 2

C. 10

D. multiple

ANS : D

12

The class is used to create TCP server.
A. Server

B. SocketServer

C. ServerSocket

D. Socket

ANS : C

13

Which class defines following methods?
int getContentLength( )

long getDate( )

long getExpiration( )

A. URLConnection

B. Datagram

C. Client

D. Server




ANS: A

14

Which of these package contains classes and interfaces for networking?
A. java.io

B. java.util

C. java.net

D.java.network

ANS : C

15

How many bits are in a single IP address?
a) 8

b) 16

c) 32

d) 64

ANS: C

16

Which of the following represents a regular SQL statement in JDBC?
A. Statement

B.PreparedStatement

C.CallableStatement

D.ProcessStatement

ANS: A

17

Which of the following package contains both date and time?
A.java.io.date

B.java.sgl.date

C.java.util.date

D.java.util.dateTime

ANS : A

18

What JDBC stands for?

A. Java Driver for Basic Connection
B. Joint Database Connectivity

C. Joint Driver for Basic Connection
D. Java Database Connectivity

ANS : D

19

Which of the following holds data retrieved from a database after you execute an SQL
query using statement objects?

A. ResultSet

B. JDBS driver

C. Connection

D. Statement
Ans: A

20

Which of the following is method of JDBC batch process?
A.setBatch()

B.deleteBatch()

C.removeBatch()

D.addBatch()




ANS : D




